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Topic:- Child Development & Pedagogy (CDP)

1) Bipolar disorder is which type of disorder? /

Ryt R (arstier fEwiiER) o 1R o1 oR &2
1. Mood / HIGRIT (9S)

2. Learning / 3R

3. Personality / Sfaid

4. Thought / [CEICIG)

Correct Answer :-

- Mood / HHIGHT (48)

2) Which of the following best describes the Theory of Mindset? /

Frafafea ¥ & o1-w1 aaRiear & Risia o1 ved st o s g2

1. Fixed mindset stops cannot be changed / R it faem (fﬁlﬁﬂg qEsdc Tc"l’q) P g&al g1 off qhal %I
2. Fixed mindset only brings failure / FRR FRIBT (fFeTs A3se) Pad b &l g

3. Growth mindset defines Intelligence / Fﬁ'af ﬂﬂﬁ@?ﬂ, §@ B IRHIRT el %1

4. Growth mindset sees failure as a minor stumbling block, an opportunity to improve and grow. /Iﬁ'q? ORI, Wﬁwmwa‘?wﬁé@?ﬁ% ﬁ?IRfT
IR fapfd 99 &7 SR R 7

Correct Answer :-

« Growth mindset sees failure as a minor stumbling block, an opportunity to improve and grow. /‘;ﬁ'@'ﬂﬁﬁlﬁﬂ, wwa%wnmyﬁwafwﬁé@?ﬁ%, ﬁﬂR_:T
IR e Rya €17 &1 SR & B

3) Which of the following is a social-learning theorist? /
Prufaf@d § & 919 ve amfe-Rian Rigia 22
1. Bandura/ Sg1

2. Freud/ Thid8

3. Wundt / g0

4. Pavlov/ UTdaild

Correct Answer :-

« Bandura/ Sg1

4) Ruhi; an 11-month-old child calls every white liquid object as milk. Which

element of the concept development process is shown by Ruhi?/
TEL11TEN B 7=t § 3 98 WE Wibe avd avg B gU FEel 8 | T8 gRT S@YR e witrar 1 S 61 wigtaw wHe feerar war 82
1. Analysis / fowersor

2. Abstraction /m
3. Generalization / JHIDH U]
4. Experience / 3{Hd

Correct Answer :-
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« Abstraction / 3[R0l

5) Learning is generally considered a lasting change in behavior based on:/
|rHga: iR, e TR v SasR # ve Rt ufvads AT o 8:
1. Challenge and reinforcement / ﬂ:ﬁﬁm 3R WUT

2. Challenge and experience /ﬂ:ﬁﬁfﬁ R ST{HT

3. Practice and experience / ST¥IRY 3R 3{gHdT

4. Practice and challenge / 3{¥TH mﬂ:ﬁm

Correct Answer :-

« Practice and experience / 3WR” 3R 3JHT

6) The concept of “inner speech” was introduced in language development by: /

YT & o & “Siide HIYu” $T S@URUN 5% gRT SR B TS i

1. Piaget / o
2. Chomsky /ARG

3. Vygotsky /ATt
4, Skinner /RPN

Correct Answer :-

* Vygotsky JCIELIGEcH

7) Algorithms and Heuristics are the strategies of )

P fafr (Teiier) ok sy (gaRfea)_ ) worifeai §1
1. Teaching / TRT&10T

2. Problem Solving / THRIT JHIL

3. Learning / 3T

4. Thinking / a9

Correct Answer :-

« Problem Solving / JHYT JHTYTT

8) Which of the following statements is true? /

fFafifeT dd o sy aa 82
1. Growth is only a mental process / 3 Fa Ua HFRIE Ufsrar 31

2. Heredity doesn’t affect the learning process. /3(aifRiendl, {fATH UfthaT B e e A

3. Development is only a quantitative process /fawm, WWWW%I

4. Learning is a process of behavioral changes / S{fRTH RIS uRadHi &1 ufhar g1

Correct Answer :-

» Learning is a process of behavioral changes / 3iferTe coraRTG ufkadHl @ ufhar Bl

9) The ability to apply a given general principle to a particular situation is called

1. Inductive reasoning / 3MTAA dh
2. Exceptional reasoning / {TUdTiadh GEd

.
ot fadiw ufeRufa & fareht few o v Rigia &) @ &3 1 & &Y PEIWEI I
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3. Deductive reasoning / T d&
4. Logical reasoning / GlIGEaGED

Correct Answer :-

« Deductive reasoning / A ah

10) What form of learning is displayed when children imitate the violence they see in their favourite video games? /

ST TP T =0 Ui g € 99 99 39 R 9 Tew SaRe £ 9 3 o wdier S M § dwa 82

1. Operant learning / fraTIga SifATH

2. Observational learning / 3 SffETe
3. Conditional learning / SfJSed S{ATH

4. Latent learning / 3o 3fTH

Correct Answer :-

+ Observational learning / 3fadid+ AT

11) What involves the repetition of information so that it moves from the short term to the long term memory? /
I B GARTGI H T IR § A1 UE qY-HIeT & Go-Prei Ffa qe aa?

1. Coding / H¢ HhdiaRu

2. Rehearsal / q\aﬁlm?

3. Chunking / T

4. Storage / FoUgyl

Correct Answer :-

¢ Rehearsal / qafmm

12) Differences in behavior between two cultures can be attributed to: /
2 T fal & ff sraeR § ofeR & e 3@ SRRt WA o wehe :
1. Geographical background / NG qg‘l;[ﬁ-l

2. Socialization /AHTSIEHRU]

3. Heredity/3{TJdfRidbdl

4. Environment / dTdTd0T

Correct Answer :-

« Socialization /AHTSIHRO]

13) Piaget developed __ important stages of cognitive development. /
it = S e e Ayl 9w faeRa feel

1. Five / U9

2. Eight/ 3{l&

3. Four /AR

4. Three /<M

Correct Answer :-

« Four/dR

14) It is easier to deal with all social situations, if you are aware of your gt arfere fRufaa) 3 fFroe GWFT%, "Iﬁ 3T 3 %aﬁ'ﬁm%l

1. Interests / &Ryl
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2. Talents / W
3. Personality / Hfqad

4. Hobbies / Y

Correct Answer :-

« Personality / AT

15) 1Q scores are generally __ correlated with academic performance. /
SR W SHfS® WR B I0ETL D@ v F ey Jedegiia gl gl
1. Least/ ®H

2. Highly / Siafie

3. Moderately / H#H 0 4

4, Perfectly / QI RE d

Correct Answer :-

- Highly / s/afde

16) Which part of the brain is responsible for thinking? /
HfeTss 1 1= a1 Wi Riae & Rrg Rrder 22

1. Medulla / #STT (Frgea)

2. Limbic system / Gua@q o m ﬁ:{@)

3. Cerebellum / W (EREw)

4, Cerebral cortex / THRTSH dedpc GIER Pica)

Correct Answer :-

+ Cerebral cortex / THRT®H depc @W ﬁa’{-])

17) Which of the following is a part of our working memory? /
Frafafee % 9 o sar srixha v 1w e 22

1. Central executive / Heig HIIBGR

2. Declarative memory / SISUIHS Ffd

3. Semantic memory / &1y ¥fd

4. Sensory register / Hag] IOREX

Correct Answer :-

« Central executive / ald BRIGR!

18) Which of these classroom practices may undermine pupils’ metivation at school? /

& & DA e F S faemay & fyenfial  ion & o0 w1 g@dl 82

1. Teachers fail to notice students’ difficulties for remediation / R1&7 §RT faentifa @t wfe-rgal o1 Fem o & e ¥ ygar+ & 3w 351
2. Teachers grade pupils’ competence as high / R1&f@ GRT faenfifar &1 draar & siféres s &1

3. Teachers encourage low performing learners / TRI&[® GRT 9 UGRH &7 a1l etftrmwatell o Manfd #X&

4. Teachers judge high achievers as excellent in high academic standard / e gRT 3 et g SehTdl P U H I U U HRA aI ol BT

Correct Answer :-

« Teachers fail to notice students” difficulties for remediation / RI& GRT faenfefai ot Eﬁm FIFEAFTAF ﬁl'q BQITKEIF!% ¥ ogma gl

19) Which are the two Associative Learning theories? /

3 wganht arftrm Rigia S8 82
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1. Classical Conditioning and Operant Conditioning / RIAIY 3seH CElIBECETIRIBU) SR pyTat 3JeeH (SiToRE drarrfm)

2. Classical Conditioning and Oppressive Conditioning / R 3 mﬁww&fﬁm Gﬁ?m EGCUE| (mm
3. Classical Conditioning and Operative Conditioning / TRA™T 3133‘547{ (aﬂTﬁlW T&pﬁﬂﬁﬂ) 3R m G{ﬂa‘iﬂ (GiT'ﬁ_C' mﬁﬂ)
4. Classical Conditioning and Observant Conditioning / R 3gdeA (a{ﬂﬁlw mﬁﬂ) AR sfadidd 3 (M mﬁ—ﬂ)

Correct Answer :-

« Classical Conditioning and Operant Conditioning / IR 313391:{ (?ﬁiTﬁlW SR SR T 3133[‘517'[ (Gﬁcﬁ_c' EFIEIEN)

20) Nive’s father has grey hair and is tall, so she thinks that all fathers have grey hair and are tall. Which stage is this approach? /

A1ga & 1 & a1 Aihe ok @ ¥, 3w g At @ e @t & far & ara wibe ok @ ¥ 98 =@ fw s A @2
1. formal operational stage/ AR AIHATHD AT

2. concrete operational stage / Tl TlohaTeTd SARIT

3. sensorimotor stage / HERTAICR AR

4. pre operational stage /‘-'Ef T ST

Correct Answer :-

+ pre operational stage /99 Tih AT SHaRIT

21) Eysenck added a third dimension to the personality trait, which is:/

3TEAP 7 AfRTcd B T dGR SHATH B 91d B 8, I8 -T2
1. Agreeableness/ dgHT (Q"Zﬁ'@?lﬁﬂ)
2. Conscientiousness/ Sfafdaaiiadr (@i=fiaea)

3. Neuroticism/ RIfesH
4. Psychoticism/ TgdhiicsT

Correct Answer :-

« Psychoticism/ TgdIesT

22) A child cannot wait his turn to bat and often runs on to the field when someonc is already batting. What problem could the child be facing? /

wgﬁmﬁ%mmmmmqﬁmmaﬁvWﬁﬂqw'ﬁsm%mﬁéuﬁﬁﬁtﬂaﬁmﬁﬁwm@m%l T Fobe v Q S
TRTE?

1. Dysgraphia / f&amftran

2. Attention Deficit Hyperactive Disorder / &TFTHId Ud sifaraferadr fapr
3. Attention Deficit Disorder / & 31HId fA®R

4. Autism / SfiTETH )sAfaHTE(

Correct Answer :-

« Attention Deficit Hyperactive Disorder / &ATFTHId Ud sfeaferadr faeR

23) Who among the following is 2 humanistic theorist? / FEfRd # § #19 Ue WHaamEd! Rigider 82

1. Sigmund Freud s wIs

2. Ivan Pavlov / 3dT9 UTddid
3. Aaron Beck / TR I
4. Carl Rogers / B Ao

Correct Answer :-

« Carl Rogers / PI o

24) Attitude towards learning is best defined as something that J R & ufy e ot gad ot e & wu § uRrviia frar srar g < 2

Page- 5



1. can be modified only by the learners themselves/ hdd Renffi R & A=fera fasa S awar
2. can be modified with age/ 31T 3 AT AN fopa ST qHar

3. can be modified by creating positive learning environments/ YDRIHD ST FTATaRUT SHTHR SR [ o Al
4. cannot be modified/ TRMET :Iﬁ (ERIRSIRIEI

Correct Answer :-

» can be modified by creating positive learning environments/ JPRIHD ST FTATaRUT §HIHR SN fovan o gaban

25) Round Robin Charts are used as a formof ____ ./
TGS FEudA wgea fpremE

1. Summative Assessment / TS SMHAT

2. Diagnostic Assessment / RS sea

3. Interim Assessment / 3fafy srwe

4. Formative Assessment / YIIHP STHTT

Correct Answer :-

« Formative Assessment / XAAIHD AHTH AT

26) Today’s classrooms are likely to have a wide array of cultural, ethnic, and racial among student /
TS & BTl § BT & I, Wi faw, ST SR Ty 31 Tw faga 4T g Bt YUTET 8 |
1. Dynamic/ﬂﬁv_qa'f

2. Similarities/ JHAY
3. Diversity / fafqemn

4, Continuiﬁes/ﬁm
Correct Answer :-

« Diversity / fafaemar

27) Giving a stimulus to a child once to motivate him/her is:/

TH T8 B iR $A & e 32 Iwifora s A gar e:
1. Continuous reinforcement / FRAR Je@ il

2. Operant conditioning /3{TORe SHaI=IfFT

3. Reinforcement / gEGIHRUT

4. Neutral stimulus / ¢ RGEE|

Correct Answer :-

« Reinforcement /m

28) As a teacher when you are working in a inclusive class room, your role should be: /

% RIg® & U & 99 319 TP TATAN B&T o HTH B T8 814 8, af Tus! YfiesT g anfu:
1. Punisher /&S ¢ drell

2. Care taker / GEHIRT B dTell

3. Investigator / 3~d8eh

4, Facilitator / JglddH

Correct Answer :-

« Facilitator / IglAH
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29) ‘Bob can put together a model airplane’. This statement is an indicator of which attribute of aptitude test? /
T TP HISH §aTS STeT™ B TP W1 TG AP & I’ T8 FUA, ATghy whemr 31 7y Rdivar #19%a 82
1. Clerical thinking /ﬁlﬁ?ﬂqﬁﬁ:{

2. Spatial thinking/wmﬁiﬁ:f

3. Organisational thinking / GG fefad

4. Intellectual thinking /Eﬁ'@ﬁ GRS

Correct Answer :-

« Spatial thinking / YA fiaq

30) What is the term used to denote the basic, innate disposition of a child? /

T T & o, T WHIE B FReid $ & forg 5w ue o1 vainr fear s @2
1. Personality | eI

2. Temperamcnt/ﬂ?ﬁmﬁﬁl\_ﬂ

3. Disposition / 3

4. Attachment / Ie#

Correct Answer :-

o Temperament / m a1 ﬁﬁﬂa

Topic:- General Hindi (L1GH)

1) B3t 9t § oA Rl 1 vdien A § @1 A & e i 97 7 3w €1 e € 4 * e Ry fm siva B AR B $ a1g arad A1 7 SR g, «anem waan
W “HB W o ST, ITPHT AT UT| Y I8 3R A8l § mﬁwwm$maﬁmagﬁglﬁwﬁm%ﬁsﬁﬁmaﬁmgﬁh% %agama'@?rél
mﬁww%%mﬁémﬁquﬁﬁ?mﬁﬁéﬁﬂumaa@g@ R o ot fewr 718 A1 Aol T Il e @, R A g R g adi £

SR TR F1 UGHR 114 U Y WY BT IR Iarg|

Y ‘S W Al Teb d mm a1 3 82

L. TiaT

2. BRI

3. fadiy

4. 9BR

Correct Answer :-

2) &l waft & s el Y e Al § a1 wRm ¥ g 5 a8 7 3ma €1 e € 48 e Arg e siva 3 & v & a1e argw @il 3 SR g, «aimem s
AW “$B W °l 781, ITPI STaTd UT| T TG SRl T gl TP 7 3/d 39 ave T SR1 o anfe €1 gt § 1 I Ay 2 1% o ol 6t oifd 81l € A aga pw dma §
T TG HHE & b AT DTS SivTer & HeT R g3 ofR fipe oft 1€ oy i 7 3 19 - R oo+ R =18 3. st Qe ol Pirerdl &, R g R weam o £

SUYS TR HY UGPR 14 I T U4 BT I Ja15¢|

W4: 98 30 O < oiTer & 9 F a1 gt 82

1. STt H e 3|

2. S H B e

3. ST | el gt

4. ST Ty 3R )

Correct Answer :-

. ST A |

3) Fff- Foft & o it 6t wflen At § o e & forg 1 7 @ 3w €)1 w1 @ # 39 oo g i s 6 S o § a1g arow | #Y SR ge, «omue
W “HB @RI Y RN, IAPT waTT ml&%:’%:mqﬁgmaﬁ%ﬁaﬁwm%maﬁaﬁégﬁflﬁﬂﬁm%ﬁsﬁqmaﬁaﬁaﬁi%wmm%l
T 7 YT & b W 1S sivrer & HeT W’ g ok Y oft B ity fier 7 3 13 - R oo ot fiad =t 31 Swgl e il et &, MR g s veam Al )
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ST I B UgHR A1 YD T U BT 3R Iag¢l
TY: AT 71§ W a5 Al ) F g 32
1. IR At

2. TEGHR

3. S

4. QPR

Correct Answer :-

o P¥PX

4) s mﬁﬁemﬁﬁiﬁﬁﬂﬁ&ﬂﬂ?ﬁg,mm@%%ﬁq%ﬁmm%lmﬁﬁﬁﬂwmﬁamaﬁﬁvmﬁmm?ﬁalﬁﬁmw “3T FAT-HT
@M S @R Al T, IAHT SaTd AT | Y3 I5 SR 51 gl Fifp F 3 3397 avg b SRl ot onfe €1 gt § | A1 fawyrr 2 o Rorey <l ot offd el €, 3 sga ww €1
1 9g Wud ¢ b HeT IS SivTe § Her WX R ok fibe ot Bis fodiw <t 1 3@ 4 - Ok o 11t foams =1l Qatr. S gt 3rare i firerelt €, g A g e wgmm Al €

IR IR BT UGHR 14 T T Y 6T IR garg|

WY AT BT faei 2reg g2

1. 8rYyg

2. RiT

3. ormy

4. Y9

Correct Answer :-

. 3HUq

5) St Bl F S Rl 1 wdten At € a1 weEn F Rie b 98 7 3wd €1 g € 4% v Rrg B e @ 3k o $ 916 argw didt| 33 SR g, “eme saan
AW “HS Wl 81, STHT SaTd AT | T3 T8 Srawel 18] gl Fifp & ord 39 avg b Sl B 2Nfe €1 gl § 1 91 Ry & % R il ot oG €1t &, S sga s dma €1
1 g WU § T e g sirar A ger wR gi 3k v oft i Ry e 1 3 1) - R oo oY e 1t 2. S gt e e fireredt €, R # g o) weme At €1

IR TR $T UGHR A1 TS MY U BT SR g3

oy 3t g o et 82

1. S g &M

2. 3R B ST

3. S g

4, 3{&d B S

Correct Answer :-

. S B

6) Tfi- Tt & oro it 3t wften ot § w1 wREA & fore % a7 7w 3w § ) wre @ ¥ 96 o g R sra ot SR w1 & a1 arow < | 3 SR U, «amue
W “H@ ARl a1, ITBT Sa1d AT | Y T5d 3Rl 6l mmﬁwwm%maﬁméﬁglﬁﬂﬁmé%ﬁqmaﬁmaﬁ% %agamé‘aﬁ%‘l
wwww%%waﬁéwﬁmmqﬁaﬁ?ﬁwuﬂﬁéﬁmiﬂwqé@g@ R oo f s =81 301 Sws Tae vl fired) &, R i g o= teaa o

IR TR F1 TGP -1 Y ¢ 7Y BT SR Fargu|
T TR T § fh wTe &1 R e g
1.7iig

2. ST

3. SRy ft

4. R

Correct Answer :-

. ST

7) B0 TN & oo i 1t often < § o1 WA F e % 95 7w 3wa B ore € # 30 v g i siva B S A & a1 aro |l 39 3R g, «ama san
F@T «FS A A T, ITHT SIaTa AUT| T3 Tg SRl 151 gonl Fifep F 3rd 39 aRg b Sl ot onfe g1 gt § 1 A fawyrr B 1o R <l ot off el el €, s sga su ma 1
Wﬁvw%ﬁ?wﬁéwﬁmmqﬁmﬁwwﬂﬁéﬁmiﬂﬁﬂ@g@ R po 1t et =181 31 Aol A Il fradt €, R A g s ygaA adi §)
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ST I B UgHR A1 YD T U BT 3R Iag¢l
WY: ST T yatgard) wes 82

1. 3R

2. e

3. fagw

4.9

Correct Answer :-

e a1

8) Ht- Tt § oA At ot wdten a4t §, a1 wemm ¥ e 6 a8 7 3@d ) o1 € A v g B oia ot ) B F 91E a0 didt| 3 S U, <emu e
W« W A T8, ITHT AT AT | G 5T 3Rl Tal gl aifds F o1d 39 ave & IR @1 Y 81 gt §1 AT Riyry & s R et Y o @l 8 s aga sw 3ma €
T TG WHA § o w1 sivrer § et W g o} b +ft i ol < 1 3@ g2 - Rl o ot R =1t 31 Aol T At et €, R A g v wgm At §1

IR IR BT UGHR 14 T T Y 6T IR garg|

7y R po ff e =1 3ar v @ s B2

1. 98 90 T8I gl |

2. 98 SISt 8] et |

3. 96 < T8 Webdll|

4, 98 G TR whit|

Correct Answer :-

« 98 T -T5I wehdl |

9) it Bt F S Rl &1 wdten At € a1 weEn F e b 98 7 3wd ) v € A% v g B e o 3k o $ 916 argw didt| 33 SR g, “ee sanan
AW “HS W A1 781, ITHT Sa1d AT | TS T8 SreRel o) gl TP T o/d 59 ae b S B M 81 g1 1| T Ry B P R e A s g @R &, S agapudma &1
T8 HHT & b el g sirer A Her wR R ok v oft i Rdy i 7 32 1) - R oo Y s 1t 3. Sovst Ao AW et € R A g v wemm adt €1

IR TR $T UGHR A1 TS MY U BT SR g3

wy: oD frar @

1. e foran

2. THHD 3R s Gl

3. T AP T

4, ST fobal

Correct Answer :-

. qHHS fopar

10) Tt ft & o it 6t e ot €, a1 wReE & forg 5 95 @ Swa €1 w19 8 € 4 v e R S 96t S o & a1 araw il 87 SR g, «smm dana
@ S WAl ALY, ITHT SIaTa AUT| Y3 Tgd SRl 181 ganT i § ara 33 avg b Swel ot onfe g gt § 1 A1 fryrr @ o Ry i 1 off @ el € A aga sw T@a €1
T TG GHE & P AT IS Sivrer & HeT HR g SR fipe oft 1 iy e 7 39 12 - R o o e =8 31 St Q9w 9iei firerdl &, R i g o~ tea o £

IR TR F1 TGP -1 Y ¢ 7Y BT SR Fargu|

uy: e ST yafgarh e TE 8

1.7

2. 44

3. T

4. G
Correct Answer :-

- g

11) B T F oo st Y v Okt §, @ A ¥ Riw o a5 wn wa B e 6 38 ve g R sive B &R B & a9 g didl 37 3R e, s e
AW “HB W o 8T, ITHT oaTd AUT| T g SRl Tt gl b T 39 3 ae $ Sl ot anfg 81 gavt § 1 IR fayrar & 195 fory <l ot 3T 21t €, Y aga v 3@ §1
1 gg Ay § fob wel B St § Her Wk gH ofik fibe ot w1 fadhe e 1 3@ 4 - R oo +ft fixars <1t Aar- S gl 3rae vl firerdlt €, R ff g wr wga At )
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ST I B UgHR A1 YD T U BT 3R Iag¢l
WY <SR T AT 82

1. 3fBRU

2. 3f1ef

3. 3R

4. ST

Correct Answer :-

. 3MeRd

12) T T2l & s Rt Y whan A §, o1 R ¥ fRrg e a5 @ 3w ¥ a1 61 A A ue v O S 9t S o & a1g e witd | A S ue, o da
@ S W Al T, ITHT a1 T | T3 T8 SRR 81 g3 Fifep § 3 39 avg b Il ot onfe 81 gt § | A1 fryrr @ o R <l ot o 1l € A sga s ama €1
AT U & b wem g shre A geT WX R ok i ot 31 frdy e 71 3 12 - R oo Wt s 18t 3. dov gt e I et €, R i g ox vgmm it §1

IR IR BT UGHR 14 T T Y 6T IR garg|
w: T &1 agaae Wsg TR

1. ot

2. feman

3. ol

4, feromdt

Correct Answer :-

. foen

13) Ty

TR | Seedt

Eii& o]

it § By fi-em 2

gRas Y

TH M IA RIS
A} el efiv-aiw

FHoygaterar

& &,

Fgafege

T 3T 79 F $E gul

Tl Hogdt | -

T i g

WA H ol

IUG Ui B UG 1Y YD W 9T WY BT IR Farg|
U 51 BT Uaigaml Weq 82
1. 3RTEAT

2. goFl

3. Sfar

4. HfTT

Correct Answer :-

- ST

14) Hoyadt
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TR | It

qreft-d oy

g AR DS-arm 2

TR

TN IA RIS
SR Gl S-SR

Hagafert

e,

Fga A e

T ST 7 3 B gul

Teh Hagaeh A -

T Bl 3o

Wy dwi,

ST UL B UGHR -9 T A a1 §Y BT SR a1y
YR: SN B faeid 2reg Fr 82
189

2.3

3. Qe

4.9

Correct Answer :-

TR
TN IA RS
DR dtell ofR-aiR
Hagaterat

5 &r,

Tga e ge

TH 37 W H FE gUU
gl eyt He il
T it geoT
Wy A wft

IT UL B UG 1 I 11 a1 Y 6T IR garsy|
1. %

2. BH

3. off@

4.88

Correct Answer :-

o

o 319
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16) Fogadt

T & St

dreft-d et

Y A et 2
FRag
TN IA RIS
TSR el SfiR-3fY
Hoyarert

&,

wgd e 5¢

T ST T & Ig gul
Tge Hogah Ara whl-
g FHR 3T
WaTF ol

IR =TT B UgHR A1 I T4 aTd Y 671 IR garsu|
T: <3 IR R WS A gerar a1 ord @2
1. sifafir g

2. R g

3. 3fHHUT BT

4, Tt g
Correct Answer :-

. WEdE g

TR
TR U RIS e
JADT dlell R-3R
-
e,
uga e §¢
o ST T & O gl
gl Fogad! Ae Wi
TE HR g1
WaT iy
IR Y= D) TgHR -9 I 1A 9T Y 671 IwR a1t
U=e: fores 7T B A9 TacsT o 35T o
1. TRl o
2. A DR ol
3. 4[
4. YT 7R Ugeh Hogach el
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Correct Answer :-

- TGl HoYdett

18) Fogadit

T @ ga

aell-d et

T & A e 2

FR Ay

TH N UG RIS

FASR dtelt SfiR-3iY

Feyaferat

e,

wga R ge

e A AT Fg JU

gl Foyad! e il

75 3t g

WA H ol 2

ST Y= B UgDR -9 T S a1 WY 671 3R 9arsu|
UT: U BoUaell I a1 YR} SSYATRM! 1 St el 82
1. 3[BT

2. 3RSl

3. 3BIIBY

4. PR

Correct Answer :-

TRy

TH M UA RIS

DR drell SfR-aR

wogaterdr

o,

EEEICE Y

T AT 79 F $T g

Tgelt weydet A Tl

Tg it geoT

WA F ot

SR U= B UGHT 1 IS W 91 Y BT IR a5l
UH: 5 Y GePRI UM & g Foyaar?
1. T T B

2. T g
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kR CEARERGI|
4, kg TR B

Correct Answer :-

. RAfe AT

Tl A W B¢ gul

TEeh wogaet Ha @i

a5 HR g1

WaTFoft 2

IR UL B UgHT -9 I 1A a1 U BT SR Fa1su
W Hoyde &1 aredl 82

1. et

2. WA

3. SRISIhdT

4, T

Correct Answer :-

FRAs Y
TN UHA RIS
DR Sttt SRS
oot
fF e,
EERICRE
g A T F B¢ Ul
gl Soyaa A it
T5 Fft 3o
WA Honfto
SR U= BT TgHR A1 I WA 919 % 671 IR garsu|
T HOYAE! T A6 37
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1. SR W AR

2. X ¥ 34 ST

3. 30 Gid R @S gHT
4, 30 Gid IR GSTEHII

Correct Answer :-

. 3T Uig R GST 8T

22) FYAH

T R Sereht

et um

T § AR f-emt 2

i

TH M UH RIS

D atell SfR-alR

Hagaferat

o,

EECIER I

T 3T WA Fe gul

Teeh Fogad! e wll-

a5 Seft geoT

WuT Al 2

IUYEH Ui B UGHT 1 TS W 91 0 BT SR gargyl
W= HOYdt 1Y T STH 71 Bl 82
1. AR - 3 Ui il

2. TR M0 A yrT it §

3. TR M-S & Hoyafear =i g

4, IR gt

Correct Answer :-

o WA T e E)

23) Fogadt

TR TR

arefl-d umt

ot § R AS-em 2
FEAS Y
WRTARBEN
AP aell -3k
wEqaterar
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SUGEH U BT UgHY 1 YD 9 a1 Uy $T IR Farsel
U HoYaierdl B guRl & FIN TR e F?2

1. 7T ST B

2. AR g

3. TIOTT ST B

4. 99 a1

Correct Answer :-

. gEAR

24) HogAdl

TR | Saedt

A Ut

wiT F AR -t 2

TRAIg gL

TN TA RIS

DR atell SfiR-ai

Feyaterar

& e,

Tgafige

Y S 7 H BT gUI

Tt P | -

g it gt

AT AR 2

ST UL B TeHT A1 I A aTd UY 71 IR Farsy|
UTT: POYRMT 31 WaTal B 910 HIT ST E2
1. 4T

2. Pyt

3. dfq

4,975

Correct Answer :-

i
AW Uial R Brg
T Gl Sfiv-eik
Hagaferat
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g il 31

Ww o2

SR Ui B UG 1 U oH 91 WY BT IR a15¢]
U FoYatedi fhad defi gs &

1. YT

2. SIS Gt

3. SR g

4. dfsTi @

Correct Answer :-

FR A,
TN THA RIS
JASR el SfR-3R

FEyaferat

& e,

TgafA gy

T 3T T B QU

Tl P | -

5 Hef geo1

W Honfto

SR U= B UGHR 19 U T 9T Y $T SR T8¢
T U < St g% Pogaten -
1. 9aq gl

2. WA gl

3. RIS E

4. @HE T

Correct Answer :-

. WIFTE

27) Fogadt
TR & Tkt

et e

i AR derm 2
i

MU RBIS I
D aell SR-aiR
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TEH Hogad! W wl-

T H¥f 301

WATH ol 2

SR Ui B U A [ oH a1 Y ST I Ia1gql
TY: ‘SIYIAP Vg Frad rase T

1 FTH AP TN

2. ae gaell

3. Had BIS

4. BTS AR gaelt ST

Correct Answer :-

« 16 IR Yol T

28) M-t & o it Y wdhen A §, o1 e & w95 w0 3wd §) w1ar € F A e i i o Y SR ww I arg a1l | 8 SR YT, “aii S 3 < uN
AT, ST T AT| T TG St TeY gt il ¥ ora 59 wRE b Il 3t ol & I § ) Ay Ry 8 e o v At oifd €1t B, 3 wga o S ¥ s ag wva @ B v

IS ST A veT o) g o R oft B iy e 7 382 g - R 3o oft Rerars ) e Awel e 9 et 8, Rt A g ar veam ad §1

SuYaR TR B UgHR R UD T U BT IR qa415¢|

Uoi: 9 oo i o wdten ot A 32

1 AR EA T

2. AT feEd §

3. A FMIF

4, ARMGIAT

Correct Answer :-

. AFESTIL

29) - & o sl Y wdten A< §, o v & R b am i 3 €1 w1 € A A o i i i 9 IR v & e A ol | B SR U, Sl LS9 <30 @
TS, STHT STaTd ATI Y Tgd Sravet Tel gail i H SF 5 RE & Swel & 3l 8 gt § 1 Wy faryry & 16 o airY &t oif e 2t €, @ g w1 3 1 s wg Wiva § o wan

PYS ST F HeT w1 A R 6T o @ ke e 7 3@ 49 - R 3o it Rarg 78 a1 Soel v A fredt &, g g e tgam ad €1

SR TR Y UGHR A1 Y T W T IR TG

T8z TR TR & SR, R o St g, a2

1. FATEIE

2 AP

3. 30 T@A B

4. T @AT

Correct Answer :-

. AT

30) - wult & o i ot wla A €, w1 v & g o o o e €1 o A ww v firr S o6t S et  arg aro i | 59 SR, o et S < e
T T, ITHT TaTd 411 T Igd SR el gl R F 3d 3 AR & IR 1 offg B I § 1 ARy famr 2 o Forr Ry Y off e el €, 3 g o0 Sad &1 Fnag v & 5 v

PYS ST § HeT WX A R 6T o B ke i 71 38 0 - R 3o oft R 7 3. Sl e il Rt €, R A g e teum A §1

FURIERT TR P! UGHY 1Y YR 7T U T IR Ta15¢ |

Ty: STaT9 P foeim g ghm?

1. "€

2. FIHAHIE T

3. 3FRMT

4. gared

Correct Answer :-

« HdTd
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Topic:- General Sanskrit(L2GS)

D qquidcdd F W] TG 3fa Arehs A, 1A

4 N h

Correct Answer :-
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2.

3.

4.

TRTSG IfScdl JeTd YGHR I -
o f@etell a1 o R aREER yel: aRuedid ¥ | 98T a8
sieT 3fd I THASAT | Felfdd T FJ9: fodoiest Hosl AgIeld, 3ol

EECIICIC IS ECCIL Colc 2 ACIAACIAGT  faaRam#A™ - “aqe
TegoreH eNYRoEA  HietAUegr, Usd Y GITad dal eliehradre]
I | IUAT dTef FH Y ATHAId Hool: FAAM odld | GedA ™
e gl ETd, YHgliol: deiiesdeed @Fefdd” sfd | vd faurd Hsedia
Tsd ANy, sisl qEaicasdt fagel | ad: oA Rweer avdfa:
e AT | TCRoT:H5ol: FEIAAATE JREHTRATATA ATl glihed,
e dcUe TATIATATY |

Tehel SUM:RAMETAIT: R, gfdst: Hooed FHIIATSHNH | del
qool: AIoEd  SeAUTAH Gedl, TGIH, 3o UWTS | dd: H der:
TAAHATT - “Usle], o oedicd g faRR ares | qonfa
TATATT FAAH -T=a1cIsd IuITOT ACAATHIGATTH |5ToRTIoleT sired:
gaist  giEomger || Sfd  [qerevd Hsen:  UgAld el iHy:
facora@r S3@ | adr gEnfauld TERISIAEY, sE-adifafua ey
aYATIEEer |

. A e .
URICH>T ST JEIMETH U Tl d-
42

G

92

55

Correct Answer :-

. s
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4.

FHIRI:

Correct Answer :-

5)

TRTSE UfScdl JeaHT YGHR FAId -
Q0 f@eeell A ol Y aRHIR yel: aRurerafd € | g8 aF
sl 3fd g AASAT | Felfdd T 5Ju: fodeielsl ool Hgldeld 3eley,
EECIICICIICECCIIL ol k) ACIAACIAGT  faaamA - “Jeue
TodeHaTRyRoaHS  dieyd@ugT, Usd FEIR IR T B CNC IEAREIC
Add | IAAT dTef AH YA ToTelelld Fool: HAAM §odld | Gedd M
Ued gor I, YAgliol: deliesdeed @Ferdd” sfd | vd faurd #sodd
Tsd AN, siel qEaicaset fAget | dd: SioshavT e avdfa:
Fleldel ad: | WCRIed Hool: FEIAAT FEARRATATA ATl gllhed,
3T dcug FATIATATE |

Tehel ST RATEATAIT: Hi¥d, gfdel: Hooed FHIUATSENH | dal
Ao HoNd SeAUTAR] Gedl, dAH 36h UUTS | dd: ¥ &aen
TAAHATE - “TUelel, $orEd efedicd g AR amem | qonfa
JATATT FAATH -T5ATAcIsd auI0T ACAATHIGATIH |$ToRToT sileded:
Sl I TS L S B | 1 B S CAE 2k B e B 0 S S O U E IR E
facorAEr dod | Ict agentedtd deRIeTHgd, ﬂaﬁaaﬂﬁfﬁﬁ sfer e
JUATICGE |

37 (R geware: uy stafa -
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9ollh! UTScaT 3TeNfATescEd U9aTEd %gagdgcdi oI -

T3 o IO AT ATE e Id: TTIH |
HAEASTT T o gACerdierd o dfcd 4 ||

TERIANAT fAC T Jehele] Leied T |
37eraT faezra faear aqef « 3uered ||

w:grau‘ﬁéaé‘r?al
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eoliehl afScar srenfafeTeey Jeaed eacel A -

Wmt = toruz'rmc o AT |
o UIhelfATS ied wgﬁﬁrm I

JIAE TR Johol€cd csq‘géz
TH 5g gRan fAfaeisy faei: |
Hgﬂaﬁaﬁa‘ruw SAMINENIE

HART T IRISC HlseldTe T e ||

Joom TaLToTfAGHRET |

, TaemeT
Correct Answer :-

RCHICH

9)

9ellenl gfocar renfafésesa geaey Q;agdjjcdi A -

qUIEY tholTHTG o d gwi S fed AT |

J IR ATSed g Sﬁﬁa TeaAd: |l
gITAE IRTSeT Tedholecd Gahol:
9 DN
TH 3§ TN ATgeST fae: |
ad #rafd GRal IET JouT faermet

AART T IRISC Plsedre] T g ||

aEJd: UY: gRg: #fafd |
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Correct Answer :-

| ATITATSTH

1) v FAvIATRHRET AT FAY FET " Segira: M HieHe

e afeg)
1. 2
5

3. 3

2 4

Correct Answer :-

. 2

12)
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TReSE fScdl T YN HIAd -
T fAeegell a1 o R aREER yom: aRuedid T | 98 a8

ST 5fd I AHASIIT | Feld & 9: fdeielsl Hool HeTaod 3oy,

EECIICICIICECCIIEC o ACTAATCTHTEY foaRamAE - “IqTE
TeATEHAARUROEAY  HietAUegr, Tod Y Gaead dar elieraarar
HI | 3T STl AH YA ToFCISA] H5o:: HAANY §odlc] | Geaddyd
Ted gl T, YAgliel: deiiesaed @Ferdd” 8id | Ud faurd #seéia
Tsd ANy, offsl aealcasst fagedl | ad: wrospaor Regel @xafd:
refael ;| WCRIeT:Hool: FEIAATY JIEANRATHT TS glihed,
3T dcue TATTATHN |

Tehel SN LMETAOT: Hied gfdsl: Hooled FHIYATSENH |

Hoo: ST SeAUTIR Gcdl, dGH, 364 UMRSG | dd: @ &aen
TSAAHAT - “Tolel, $oeT AEAleyd geFd faRBFRE Ao | qarfy
JUrAfY FAAA -Tsarecdsa auifor raaTaieATTH |SToRolT starded:
S3 1T e S R 6 B TS A C e B e I I S S G O U E D E
facorAaEt d8@ | ddt ggemfaafd THTSTHIG T, admaﬁﬁﬁﬁ sTtoTed
JTATICGET |

316 ggamfagfa: 3 -

Hool:
1. 9

5. AcHUST:
AeereT:

3. 9
=T

4,

Correct Answer :-

ao\-Q:IQIGl

13)
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IRTSG IiScdl JeTEd YGHR AT -
W Aeegel a1 T R aREER yer: aRuedid T | 9E¥ T a8
8T 3fd I AASIIT | Ferid T 9: foetielsl Aol Helaerd 3oy,
959 dlel UsddiiNeh 18, ACIAACIAGT [OORIAAE - “UTG
ToIASHARIRUgHS Tiedd@ug™, T3 PEIRERR BT B CNC IEAREIC
Add | 30AAT dTel AH YA AoTolelld ool FAAMT §odld | Gedd ™
e gl T, YAgliol: deiiesdaed @eerdd” sfd | vd faurd #Hsedia
e 3feey, siel qedtcasdt fdAqet | ad: FreshAvT el aRufd:
Flefdel Id: | MCRed: oo EAAAT JIEARRATHAIA ATl glihed,
3o dcUS TATIATATH |

Tehel SUI:AAEATAIT: Hi¥d Gfdst: Hooed FHIUATSENA | el
Hool: o SeAUTA Gedl, A, 3Gh UURS | dd: @ e
AAAHATT - “Uole], $oET Medicd add AR e | qanfa
JTATT FAAH -T=aTIcasa g0l ACAATHIGAIAH. |SToRTolT sileded:
gaist  cieromger || gfd  Idereud #Hsen WAl fHeegliEI:
facoraa@r ss@ | adr ggenfauld goeEReTATEY, mdd%aﬂﬁﬁﬁ siereg
amﬁ%rar |

el ey g 37 -

erar

Correct Answer :-

) FeTo

<

14)
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IRTSC IfScar U YgHcc FIId -

HIgIGTEaNTee: TSCAAT a1 "HgleAT wefdfer: gaAewgEs: ud: ufis:|
A AGAGTEINTRT: GG RHAYGRS: Al Ucdeh e SR
Elce-gd, VB, HAGEGHARTRT:  qHIgEe:  3eEdl 3d Td &
IhIIHd: 7| T TT ARATT TIdeAdAT: FFaTGehy 3ol 3etad| AT
HAGACIEET Sled IGRIA-PIHSATATS TSI 'IRTeal A T 3eTad|
3T AT eAdee:, AT T delldls 3| Hgel: T TJY AT
hiIss: A TY Aeracd ATH, dcgsierd:, fAea=ft, T smamres:,
AfgaaE, SeaHdd: I Al J&T dEd  Udr  Ieicisaed
HAIUCHSI ]  dar 31 Hgalsid &&= ¥ dF  37eresd)
TeThle=o Tq AregfAs el aREATdars | OEReed ared= Tw:
TACAAIGEART HELST A=Al IOl FodArefearede| O THIIIT,
Teigellel, QaToRron, afdddr o i) fafamesmedd SReey gaerens
T HigeT: ISR SPNH| IHAA Yd ARY T AG-AfCT-gUaRael=14
gfdaiaare]| TN 9fdel def TaIsTT o 3ecliodl 3i8dd| dal TiesaT
Uoe] 3&T IRTEX ggdl oeeal 8IRd WcareTesd |

TAY A UATGHIRIeCY 3 WUsg: Hlocsiatd-

Correct Answer :-
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16)

ol ufscar srenfaféseer ueaey %g&gagcdi A -

gﬁnﬁagwn?[agﬁwg dfcd I €I |
FAEASTT T oF ATEFeIF o afee & ||

TERAET Tae AT Seheled eeie o |
37eraT faegan facar aquf =1 3uasad ||

WWW|
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TRTaE IiScdar U2y QA&QJ:I_,CCIJ; AT -
HIgTGEaN e "ToAAr 'S "HAglcAr efafe: FAeas: ue: Iiag: |

A AGACEIN:  GRTOT  WHUPRS: ATl § Tdhed  GUTT

TAlde>gH  WTtd, HAEGIAAdRE:  UANESR: JAAddl 3d Td g
IhIFH: o7 T TT ARATT TIAeATAT: Foareehy 313yofl stetac| AT
AIGACTIT Sledl TSNIA-hITSATATS TR "UReecd Al TAled 37eTdd|
3T AT TS, AT T Jdellars RAAI Hegel: TUT: IIY TTAY
Ffelss: M| Y Qe@Eca AT, Scasiad:, oo, T3 sramaree:,
AfgaEE, SeaeeFd: I ANl J&T Je g Udr  IeIcieaed
HATIUCHSIIhale]  dar 21 Hgalsid T dg  aF  37eresd)
TeThle=To TF AreafAe el aREACdars|  OEee aed= Tw:
TACATHICARIT FERST A=Al UM FodTHeaEddl Al UHIIRIT,
Teigellel, aToRron, afdadr o i) fafarareTsmedd SReey geermsme
T Higel: $IUSAel SNHA| IHA I A T HAG-HIGI-GIIR AT
ufdaraare]l o 9fdsr dd E&wisfU 7 3edfaar isad) dar gisEor
Uoe] 38 ST yedi ofeedl HRd UcATresd |

HEICAT Meel: HolellH SaH-

4. N\

Correct Answer :-

| AlgAeE:

18)
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TRTSG Ufcdl JeTEd YGHcR I -
o fAetgel A T R 9REOR yorr: aRuredtd T | 983 a8

el 3fd g AASIT | Felied T o9: foeielsl Hool Hgaed 3oy,

FEECIICIC IS EC G ol itz ACIAAAT A foaRamAE - “F5TE
TCATEFARURCEAY  HietATgr, Usd YA Gaead dal oltehradid]
T | INUAT dTel AH YA ToTolleAd ool HAAMT §odld | oA
Ued gl &id, YAgliol: deiiesdaed @Ferdd’ 8id | vd faurd #sedia
Tod ey, sitel qeitcasdt fdqet | ad: FreshAvT Aeeel aRufd:
Frefdel ad: | MCRed ool EIAATE JIEANRATHI ATl gllhed,
3 JdcUS TAIATATY |

Tehel SUN:RAMEATAIOT: Hi¥d Gfdel: Hooied FHIIATSHINHA | el
Hool: o SeAUAl Gedl, AGIH, 364 UYRS | oOd: @ gdem:
AAAHATT - “Usle], $ToTET Medlgd adFd AR e | qanfa
JATATT FUAH -T=a1AcTsd quITol ACAATHIGAITH, |$ToNToled silerded:
Sl I S B I B S CAE 2ok B e I 0 S G O U E IR
facorgaE §3(@ | ddl IFNfauld TERISIAEY, #@-Radifaiu sieea
YA |

Tce] Hool: &Sl goae -
CRID e

TeaTdH,

5. ~

e H]

3. ~

AT H
4.
Correct Answer :-

. eI
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Correct Answer :-

Correct Answer :-

. TRgaot

* oot ufsear srifafesera gt g gaud -

guq{—q holTHTG lod ?ID'U?I ATGIed HAdT: |

o UghiATS ed grd gvc‘i'l?d Joodd: |l

TITAE TRISCT Techoleed gapel
A 3% giRdr fafdery faei: |
| J 7atd aRal 3vg som faemer

AARY T RIS HIsAdTed T aR: |

£

HedlEd el Teld & RO i |
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eoliehl afScar srenfafevesy Teaed Yeaccl AT -

T3 o 0TI [T A1 dfcd Td: Taa+ |
FEEIST T 7 gACTLId A dfcd 4 ||

TERIANAT [AG T JocheleT ¢eiet T |
3reraT faera faean aqef = 3ueead ||

3TEAMET 30T o AT |
) ~ o~

3. N
eI
4., O

Correct Answer :-

eeliehl afScar SrNfAfCTesd Teaed YgHc FAId -

JUIEY Hel[Heaied JUd Acafed Al |

o IS ed 9Td ghél'l?d rears |
TUfAE IR Todholecd gohol:

A 3¢ YT fIfaerey faei: |

| q efafd aRal 7€ Joom faermer

AATY T AR dlselaret Pt aRg: ||

HAlIdT: TdiGTSIod |
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. O ~

24)

IR afScdl TRaed AgHcl aIad -
AGTCHAN o TSCAAT ‘a1 "HglcAr eifafey: THAeds: Ja: Iiog: |

A AGACTHIRT:  &RGIUT] RHAYGRS: Al Tcdeh e GRIE

EAIdegH  Uod, HACGIAATE:  GANES:  JAddl 3/d U9 4§
IhIH: eTd| T T ARATT TIdeAdAT: FFEUGehy 3ol stetac| AT
AGAGRET STod ISRIA-PIHSAATS UG "IREeal AlFAd TATT 3787
3ET AT HAGeG:, AT I qdoﬂsns 3| Hige: SIEGE Udﬁi Hq—éﬁr
ielss: 3MHIA| Y QAerared AT, Feasterd:, =13, A TATTeT:,
IfgEEE, SWHFA: T AWl T&T aed Tdr  TShlceaed
HATIUCHSHIhde]  dar 27 Higalsid &0 dg  dF  37ereskd
Toihle=lo Tg AregiAs G aREACdae | OERee gre= Tw:
TACAAIEEARAT  HEST A=Al IOl FodTFeaedd| A THIIIT,
TAgelell, JATRRIOT, yidadl T 3| faforarersmedd SReey T, otreqrey
T HigeT: IS SPNH| IHAT Yd AR T AG-ACI-GIARGoTA1
gfdadarst| TS 9fda o Tawisfd o Jediddl 37ead| dal 9RAH0T
USe] 3@ IREET Ygdr efeedl AR Tcdrereskd |

379E g ®U evafc-
1.‘&5”—%
, Na w8
LR

Correct Answer :-

RREE I ]
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2 srgvEmEn: S ?

i 08

5 06
3, 04

4. 05

Correct Answer :-

. 05

26)

Yolieh! Ufdear STNfATETeE Teaed Ygecad Faad -

T o VT AT A1e e Ta: Taa+ |
LT T 7 EEgerdied = dfca 4 ||

TERMAYAT AT JocheleT eeied T |
37eraT fae T faear aqut = 3uersad ||

eSiIFd o dfcd § 3T @ 3l g T @I

Correct Answer :-

27)
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voliehl afScar sreifaféveed geaed Jescel FaAd -

ST o IOTI AT A1 e Ta: Tag+ |
AT T 7 AT « dfcd 4 ||

ITEAST Tae AT YSeheled eeied T |
312raT faezran faem adef = 3uererd ||

AT faeam uread |
ITERLATAT

L9 95
IEGNERRII

2 o 8

REICNCARY

, L

Correct Answer :-
ITXAAYTAT
P B B

28)
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IR=adc Ufdcar UesTE %;&dgcdi g -
HIgIaTEaoer: TSCUAr "a1g "AgleaAr vsfdfe: gaAegs: ud: ufds:|

A AgAGREN:  GRAT  WRAUPRD: 3eTad| T YcIhed G

TAlde=ad  UTod, HAGEARTRE:  WHAYES:  38dd] Ad Td 4+
IhTa#: 3HeTacl T TT TRATT TAcoeAdTAT: TFIGHY 370N 3re7acl] 47T
AGAGITT Sl dgd{ld—qnlqulqls ST 'UReeGl AHh AT A |
3T AT HFATee:, ACT T Ydellars R Heel: TUT: IIY TTAY
wieTss: A T R@EGT AT, Teasterd:, fa==dt, [En: smamdrere:,
JEAEE], SqHFA: T ANl TST d&F AT Thicisaed
HATIUCHSIIhdar]  dar 1 AigAlsid T ¥ dF  37eresd)
TeIhicoR TF ArefAd Rl aREaAcdars | OERee area= Tw:
TACATHIEARIT HERST A=l IOl o dTHGAEIA| AT LTI,
Togelier, Farugen, afdadr I ) fafaemesedd SREcy geemee
T HIgeT: §IUSCY SPMH| IHAAT Yd AGRY T HG-ALCI-GIaRGSIA12
ufdardarst] oS 9fdsr dd EaeAsf & Iecledl 3fedd| dar gis@or
U&s 31 SR¥FeX ggdl oferdl $iRd Ucareesd |

Mo IOIY 3 IOT: 37 Alecsidid-
| Jfggrare:
| HgET:
, IEGEISIE

,, Gegate:

Correct Answer :-
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1.

2.

IRede fdcar URAed AgHca AT -

HIgeTeaMieer: TS 'S "HegleAT Teffdfey: FAegas: uo: Iiag: |
AT FAGIGTEITeRT: GG RHAYGRS:  JTIdl F TARET 2
TAldesaH,  UTod, HAAIOAATHE:  GAEE:  JAAddl 3/d Td 4§
Iha#: 3eTac| T TT dRATT TAd-AIAT: TFIIGHY 30N 3reTac| AT
AGIGET Sod IERIA-HISTATATS YGET "IRFeGl ATFTh Tl 37679 |
3T U EFdee:, AT T Ydelars Al Hgel: TEUd: Idy U
hielss: 3| T QAeracd fAde, Feasterd:, e, fﬁa‘r 3Tl
AfgaEE, SAHFA: T ANl JaT axd  TUdr  ISicisaed
HATIUCHSHIhdaR] dar A HAgAlsiT &= g8 JdF 37
TeThle=IN Uq ATefAe e gReEAdare)  fEaRay dleds T:
TACATIGEARIT HEST A=l 0Tl hedrefaaeddd| A LU0,
Teigellel, VaTRrEoT, afdddr I R fafaemsedq SReey geermemsd
g Higel: $IeIUsael SHA| ITHA Id AT T AG-HIGIT-GUIRT ol
gfdadars| TS 9fdem dd Tawisi o 3cedlftdr fadl dal aRsmoT
UoH 3l SRECT gedl ofstal 6T Tcaresd|

AEAT gafey e foare: dasad-
TR

3

, THatd
, TG

Correct Answer :-

. ATIGr

30)
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9ellohl Ufacar srenfafeseed UesTey %Aa.ngcdi AT -

qUITY hol[HTS od gw.r AT led HlTdT: |

T UTIholfATSied 9Td %hél'l?d Joodd: |l

a'zrfﬁ'g:uﬁgiw JodholEcd cﬁt\v@‘{:
T 58 gRamnT AfaesT fae: |
ad Hafd aRal T&F ouT faerreT

HATT T IRISE lsodTet T el ||

HIAaT: Aceld: Tcld, o |

Topic:- Mathematics (MAT)

1) From the sum of 2m? + 3mn + 3p, — 4m? — 7mn + 5np — p2 and 5n2 + 4np + 2p2-p subtract the sum of 6n2—m?2 — 5p2 — 4mn and -m?2 + np + p2+2p. /
2m2 + 3mn + 3p, — 4m2 — 7mn + 5np — p2 T4 5n2 + 4np + 2p2-p F AT H & 6n2 —m2 — 5p2 — 4mn TG —-m?2 + np + p2+2p F TN B T |

1. 11m2 +8n2- 4p2 -4mn -2m?2 +6np + 2p

2. 3p2

3. 5p2-n® + 8np

4. 8n2 - 5p2 -7mn —2m?2 + np + 2p

Correct Answer :-

. 5p2 2+ 8np

2) A farmer wants to fence his regular hexagonal plot of side 200 meter. What is the total length of rope required? /
U 5 200 Hiex Yo & TH-TYW STHR aret Y& & 918 T 9Tgdl 81 59F Y sravue I1A #t g s fsawit gnfie
1. 1400 meter / 1400 #ieX

2. 1000 meter / 1000 #i&X

3. 600 meter / 600 Hiex

4. 1200 meter / 1200 Hiex
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Correct Answer :-

« 1200 meter / 1200 Hiex

3) On selling a tea set at 10% gain and a lemon set at 20% gain, a crockery seller gains 26. If he sells the tea set at 5% gain and the lemon set at 15% gain

he gains 17. Then the actual price of the tea set and the lemon set? /

10% & T TR TH &-AT 3R 20% F 1Y W TP Ydd-A¢ 399 W, TP B3} fadhdr 26 TUU BT @14 WK ST €1 1S T8 5% F T W -8 941 15% F qH W)

Yrd-Ae udT 8 9 IQ 17 FUA BT ATH WK ST 2, @ -8 v wdla-Ae o1 arRafds gea g2

1.75, 80
2.200, 100
3. 100, 80
4. 150, 120

Correct Answer :-

- 100, 80

4) A hotel requires 91 bottles of oil for a week. Find the cost of oil it will require for 58 days if one bottle costs Rs. 98. /

U §Ied 3! U W8 # 91 S1da ad 31 STa¥uehdl il 21 9fS TP sida o1 anTd 98 44 , 58 A1 & fArg sraxas o7 3 anrd 31d +31

1. Rs. 72384 / 72384 U
2. Rs. 75460 / 75460 T
3. Rs. 75400 / 75400 &0

4. Rs. 73892 /73892 T9%

Correct Answer :-

«+ Rs. 73892 /73892 9%

5) Breaking up of the mathematical concept into smaller parts is termed as

_____ wEVmel

TR sy H B et & de
1. synthesis / REGLE
2. analysis / e
3. inductive / 3{THT
4. deductive / IGULE]

Correct Answer :-

« analysis / faeiwor

6) Fill in the blanks. /
o w1

I-53+_ =53

II[11 + (-14)1- () = () + [(-14) + (-9)]
1.1:0, I : -9,-11

2.1:0, I: 9,-11

3.1:53, II: -9,11

4.1:106, II: 9, 11

Correct Answer :-

. 1:106, II: 9, 11

7) If the perimeter of a regular octagon is 320 cm, then the length of one side is: /

i TH A ATYS BT TNATY 320 AW 2, oY SHS! TP Yol &I 7o 2
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1. 60 cm / 60 A
2. 80 cm /80 Tt
3. 40 cm / 40 9
4,70 cm /70 S

Correct Answer :-

o 40 cm/40 9

8) Which of the following will give a whole number result? /
Frafifaa & | $=-a1 ko & w9 § ve gl den 3
1. 6-2

ii. 6/5

iii. 0x3

iv. 7-9

1A, i, i, v /=R i, i, v

2.i,and iv/i, W iv

3. Only i/$ad i

4.1, and iii /i, @ iii

Correct Answer :-

o i,andiii/i, QW iii

9) A conjuncture is a statement which we believe is true, based on mathematical intuition and if we proved it, then it becomes a ./

mémm(mmv)wawq%f\ﬁgwm%'%u?ﬁ%,Wmmmmm%mmmﬁmamﬁm,a’rn—gqaa' EE)
EicIkl

1. postulate / SR
2. axiom / WFURIE a1 Rigia
3. theorem / THT

4, statement / PY-

Correct Answer :-

¢ theorem / g

10) Amicable numbers is discovered by A/
TRFed HwR A @i GRT BT T

1. Euclid / gfdets

2. Thales / I

3. Pythagoras / m‘szmﬂw
4, Plato / wier

Correct Answer :-

« Pythagoras / TEUTIRY

11)

Ifu; = x; —900,% fiu; = —400,% f; = 100, thenx=___. /
afg u, =x,— 900,% fu; = —400,X f, =1008,a x=____
1.984
2.546
3.782
4.896
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Correct Answer :-

* 896
12) e
Evaluate — = 2thenxis:
x*+2x+4
- » x!_s _ .
Hedidd A x:mH—z%, arx g
1.2
2.1
3.3
4.4

Correct Answer :-

13) A PQR and ALMN, PQ=NM, £P= £M. The two triangles will be congruent by
SAS axiom if :

APQR UG ALMN #, PQ=NM, £P=2M g1 HT-HIoT-8JT G &@rT ar
Prisr  waeTaw g, afe:

1. QR=ML

2. PR=ML

3. QR=MN

4, PR=LN

Correct Answer :-

« PR=ML

4 Inthe given figure, O is the centre of the circle, ZOAB=60%and the radius
of the circle 6 cm. Then the area of the triangle is:

few 7T X@RT #, 0 Jed F FHF €, 20AB=60°HT gea Hr F¥==m
6T §, af TR # e e &

A B

93 cm? /93 [

133 em?/ 133 HHR

7V2 em? / 72 QR
3.

4.6cm2/6®1:ﬁ2

Correct Answer :-

93 ecm?/ 93 {12
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In an equilateral triangle ABC, AD L BC, AD? = xBC? thenx =

U GHAE el ABCH, AD LBC, AD* =xBC*,dl x =

3
1. Z

1
2, 4

4
3. 3
4.4

Correct Answer :-

3
4

18 If @ and 8 are the zeroes of the polynomial 3x2 + 5x + 7, thenﬂ%--*-ﬁ% is
AME o T 9EUG 3x7 +5x +7 F Yok A Sy = R
1910
1. m
190
2, 343
37
3. 82
&
4 310

Correct Answer :-

190
343

17)

Ifthe side of the equilateral triangle is 43 which is inscribed inside a circle , then the area of
the circle is:

afe; gaaTg Poget 1 oo 4v3 § S U god & IHeR IR &, d goa T avAwhel g
. 36m cm?/ 367 T2

16m cm? / 16n T2
2.

9 cm?/ 9 JHR
151 em?/ 157 SR

Correct Answer :-

16m cm? / 167 T2

18)
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In two triangles ABC and PQR , AB=QR,BC=QP,AC=RP then:

ar Pr7st ABC3IRPQR#, AB=QR, BC=QP, AC=RP g, dT:

IR

AACB
1.

AQPR
AABC & ARQP

2.

, AABC = APQR

, AABC & AQRP

Correct Answer :-

AABC & ARQP

19) There are 30 laddus in a plate. Anil tookg laddus if 10 laddus remained balance. Choose the

matching equation.

Uaemﬁﬁﬁmiﬁg%lHﬁaﬂ563§aﬂﬁm|w%106sgﬂwrgwtﬁéT

gAfrd FHROT HT TIF FI

Z2_10=30
2

3o—§+1o=0

4.

Correct Answer :-

30-2=10

20)

ABCD is a trapezium in which AB || DC. If ar(AABD) = 24 cm? and AB = § cm, then the

altitude corresponding the side AB of AABC is .

ABCD U& THoF g, o AB|DC g1 Ife (AABD) &7 ai=ithel =24 YA TATAB =38

it . AABCHY Haq o ABHT I=ms _ B

1.16 cm/ 16 Gt
2.8 cm /8 GHt
3.7 cm/ 7 GHL
4.6 cm/ 6 St

Correct Answer :-

. 6cm/ 69

21
) If PQRS is a trapezium in which PQIIRS and PS=QR .then:

afe PQRS Ueh THeid g, forad PQIRS 31k PS=QRE,

P =18
1.

LP=/R
2.
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£Q = +£S
5 @

2P=2Q
4.

Correct Answer :-

ZP=2Q

22
) If @ and B are the zeroes of a quadratic polynomial x* — 3x + 7, then the quadratic polynomial

whose zeroes a.rei and%is
I o vd p faTid dgue x*~3x+7 & UIF g, ar forad :)_;Faa:iva;% G
efaurd agug g1

1 X2 =3x+7

5 Tx*—3x-1

3. 7x*+3x+1

4 7x7=3x+1

Correct Answer :-

Tx2—3x+1

23) The average temperature of Monday,Tuesday and Wednesday was 75° C, while the average
temperature of Tuesday, Wednesday and Thursday is 77° C. If the temperature on Thursday was
76° C .then the temperature on Monday was ----------—-—.

AR, ATeraR 3R guaR &7 3iad amaAe 75 3w or, Fafdh ATearR, Uar
3R AR & 3T ATA 77° AfeTa §1 ARG IFAR T AGATT 76° AT o,
at SHAR T AT o

70°C
72°C
78°C
0 75°C

Correct Answer :-

(113)? +(279)*
(113)2-113%279+(279)2

1. 113

2.392

3.279

4. 639

Correct Answer :-

e 392

25) Choose the number divisible by 6. /
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6 A fauriora 17 aTel T &1 9= |
1.2281
2.2148
3.2186

4. 2108

Correct Answer :-

e 2148

26) Choose the true statement about expression 4a3 — 37bc. /

S 4a® — 37bc F HaY T T HUT T T PR

1.2, b and ¢ are the three terms of 4a — 37bc. /4a - 37be F AT UG a, b T ¢ B

2. 423 and 37bc are the two terms of 4a3 — 37bc. / 423 — 37bc & S UG 4a3 Td 37bc ?I
3. 4a% — 37bc is monomial. / 423 — 37bc THTCT B

4, 4a3 — 37bc is a polynomial. / 4a> — 37bc UH SgUT &

Corre& Answer :-

« 423 —37bcisa polynomial. / 4a® —37bc @E@E%l

27) Find 222222 x 15. [ 222222 x 15 3 &3
1. 3333330

2.3333335

3. 3444450

4. 4444440

Correct Answer :-

« 3333330

28) A number is multiplied by 7 and 36 is subtracted resulting to thrice the number itself. Then the number is: /
T BT 31 7 | 0T 63 W 3R ITH | 36 Te W uRomdt wen i &1 &9 71 8 ot 2, 9 d=n @:

1.9

2.7

3.4

4.8

Correct Answer :-

29) Using the divisibility test, determine which of the following numbers are divisible by 8? /
Rrriaar stig $1 IER 7, Fruifva $3 5 FafifEe § 3 $h-0 wen 8 § fuie 32

1. 68324

2.98780

3. 74612

4. 37136

Correct Answer :-

* 37136
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30) The term synthesis in the Bloom's Taxonomy is revised as .

=W & Tiiiewor § Teg AT Bt ¥ = # G fear mar 21
1. Analyzing / faeror

2. Evaluating / WW
3. Creating /ﬁ'rlfUT A

4. Applying / TR PAT

Correct Answer :-

» Creating / [EEIETC

31) 11 square pits of side 1 m are made on a plot of land 7 m long and 450 cm wide. What is the area of remaining part of land? /
7 #iex @9 3k 450 A 912 Y & v e W 1 Hiew Yo @ 11 TuieR TF g9 ond &1 4 F v R @1 fuva e 22

1. 304 sq m / 304 FTHIEX

2.9.5 sqm/9.5 AHIY

3.20.5 sq m/20.5 FHER

4.31.5 sqm/31.5 TR

Correct Answer :-

+ 20.5 sqm/20.5 TR

32) "Mathematics is the queen of the sciences and number theory is the queen of mathematics” is stated by: /
“Tifir, farm @6t Tt o wRen Risia (e @) wifvra 3 i 817 a8 3% g1 FeT T B:

1. Gauss / g

2. Bell /S

3. Fischer/w

4. Bernard Thomas / a:ﬁ—é; fAg

Correct Answer :-

* Gauss/ i

33) What is the successor of 999997 /
99999 T} UG WS FT 32

1. 1000000

2. 100000

3. 99998

4. 99990

Corre& Ahéwer -

« 100000

34) (-123)+132=7

Correct Answer :-

« 9
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35) The graph of the linear equation 5x+3y=-15 is the line which meets

the x axis at the point: /

Qe BT 5x + 3y = -15 BT ITE 5 @1 & it x &1 A 30 fig W Rt &:
3

1. (5’ 6)

2.(3,0)

3.(0,-5)

4.(-3,0)

Correct Answer :-

* (3.0

36) The fourth vertex of a square whose three other vertices are (3,0),
(0,0) and (0,-3) is: /

e o @1 9T 2 e @9, et e i 2 (3,0), (0,0) T (0,-3) B:
1.(3,-3)

2.(-3,3)

3.(-3,-3)

4.(3,3)

Correct Answer :-

* (39'3)

37) The mirror image of (3,-5) in y-axis is: /
Y-8 TR (3,-5) BT g ufafa 8:

1.(3,5)

2.(-3,5)

3.(:3,-5)

4.(53)

Correct Answer :-

38) Which of the following is the equation of a line passing through the point (12,-13)? /
Praff@a & | w1 fig (12,-13) & 7o arelt Yar &1 gfiewor §2

1. 9x+5y=11

2. Tx+5y=19

3. 2x-3y=-63

4. 9x-5y=174

Correct Answer :-

o Txt+5y=19

39) Immediate objectives are stated under ./

TP ILRT & Sienia affa gl
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Jury

. affective domain / HIdTHD U&

2. connective domain / H&TST T&f

. altitude domain / J&cd (Qﬁﬁﬁi@) &
4. cognitive domain / W q&f

w

Correct Answer :-

» cognitive domain / TIHTHD g8

40) ABC is an isosceles triangle with AB=7 cm and BC= 13 cm. How many such triangles exist? /
ABC U& Gafgarg Ry« €, RRr AB=7 39t 3k BC= 13 97t 21 9 foba Brywr g &2

1.2

2.1

3.0

4, More than 2 / 2 ¥ 3@

Correct Answer :-

41) Find the co-ordinates of the point P which divides the join of A (3,-1) and B (-3,-4) in the ratio 2:1./
A (3,-1) T4 B (-3,-4) BV SIS Tt ¥@T &1 2:1 & Sigura & fyuiora o= arelt g p o1 =i ma w31
1.(1,-3)

2.(-1,3)

3.(-1,-3)

4.(1,3)

Correct Answer :-

. (1,3)

42) Find the area of the triangle formed by the points A(0,1), B(0,5) and C(5,4)./
famg A (0,1), B(0,5) T C (5,4) gRT AT Byst &1 dorwa g w11

1. 8 sq.units / 8 aﬁ_{‘ﬂ—i:

2. 16 sq.units / 16 EF‘TEEI%

3. 10 sq.units / 10 aﬁswlé

4. 5 sq.units /5 EUEEARS

Correct Answer :-

o 10 sq.units / 10 3773?5@

43) learn by actually experiencing or carrying out physical activities. /

IR H SHT P 91 AR iAo a3 & dwad g1
1. Kinesthetic learners / TTiquRes fRrameff
2. Auditory learners / 40N Tremeff
3. Sequential learners / 3 iod fRremff
4. Visual learners / TS fR1amff

Correct Answer :-

« Kinesthetic learners / Wﬁ&ﬂiﬁ

44) The area of square that can be inscribed in a circle of radius 6 cm is v
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AT H A grm, R ¢ I e areht te g9 $ siafa S iof frar s wear 21
1. 144 sq om / 144 T I

2. 72 sq cm/ 72 9 Sl

3. 81 sq cm /81 ¥ Tt

4. 36 sq cm /36 T T

Correct Answer :-

o 72 sqcm/72aﬂm

45) The great school Alexandria during 300 BC was formed by i

300 ST 7d & SRT HET WA ST 1 fHmior ¥F gRT far M
1. Euclid / IS

2. Alexander the Great / ﬁlw HeH

3. Pythagoras / UTSUTIRY

4. Aristotle / 3R¥J

Correct Answer ;-

« Alexander the Great / RIdhex HgH

46) The centre of a circle is at (-1,3) and one end of the diameter has co-ordinates (2,5), then the co-ordinates of the other end are

T G BT HF (-1,3) W & T4 ST BT ¢ 37l BT (18211 (2,5) 8, A gek sg o1 sz 8
1
(%)
2. (=41
3. (0.0)
4. G2

Correct Answer :-

. (4D

47) If the supplement of an angle is equal to itself, then the angle is: /
TfY T BT BT RSP TG & SRR &, A B0 8-

1. Acute angle / < DI

2. Right angle / THHIOT

3. Straight angle / 359101
4. Obtuse angle / 3T B0

Correct Answer :-

« Right angle / GHBI0

48) When learners makes their own definitions, concepts and theorems, they are making

g Rigmeft sroeit ufyHm, sumon ok RrgiT g a e & 91 d fffa s g

1. precision / TR
2. generalisation / ARSI
3. accuracy / Fyrfar

4. frequence / IRERAI

Correct Answer :-

Page- 49



e generalisation / HHRIBRT

49) In a singing competition, the points (maximum being 60) allotted to the 15 participants are 60, 52, 42, 40, 43, 44, 46, 46, 45, 42, 41, 40, 46, 48, and 46. What is the

mode of the above data? /

e g WieaiRiar , 15 wiruiR @) T 71 siw (iMRiead 60 B) 60, 52, 42, 40, 43, 44, 46, 46, 45, 42, 41, 40, 46, 48 Td 46 &1 SURNT DS BT TGP [he 82
1. 44

2. 48

3.42

4.46

Correct Answer :-

e 46

50) Find the odd one out. /
@ favm &1 gra a3 |

1. Radius / B30T

2. Chord / SitaT

3. Triangle / AYS

4, Point /1%'_@',

Correct Answer :-

- Point /ﬁlﬁ

51) A primary prerequisite for the child's ability to count is: /

o B e 31 arvar & g v wafe 2l @:

1. None of these / mﬁﬁ’sﬁﬂﬁﬁ

2. Fluency in place value concept / I A 3{dLRUT & UdTE 81|

3. Fluency in writing numbers / SRSHT <Ia H UdTg Bl

4. Fluency with number word sequence / ST Xeg W%m‘qmﬁl

Correct Answer :-

« Fluency with number word sequence / AT Xeg W%Wﬂmﬁl

52) “Curriculum is a tool in the hands of an artist (teacher) to mould his material (the pupil) in accordance with his ideals in his studio (the school)” was stated by: /

"UTST] U FATPR ((R1815) F B1Y H TP SUPHV ¢ Sl ST Ffea! (e & Sud aimezif & JuR Sust annll @nh) i ere ¥ e g, 18
FYT TP g1 Pl I 8:

1. Cunningham /i

2. H. Robert Beck / Td. e 55

3. Derek Rowntree / Wfﬁiﬂ

4. W. Walter Cook / &Y, dleeX b

Correct Answer :-

¢ Cunningham aciL]

53) Which of the following methods is not advisable for a mathematics teacher since it takes the form of a one man's show'?/

g & e Rrere & fore fFrafifad § & Si=-d) fafy sfra 78 & wife gg evia i ereudar gl
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1. Lecture method / IR fafd

2. Heuristic method / &a'm'rﬁ%fﬁ

3. Project method / afars fafdr

4. Laboratory method / TEITRITAT fafer

Correct Answer :-

« Lecture method / SRS fafd

54) The Father of Indian statistic is, ./
YR i@ e Rl

1. Gauss/’ﬁﬂ

2. S.P. Gupta / Wtﬁ‘IﬂT

3. P.C. Mahalanobis /ﬂ?%ﬂ ﬂ?m:maﬂ

4, Fischer / fhRR

Correct Answer :-

« P.C. Mahalanobis / ik:i Hﬁ'lﬂ:hﬁﬂ

55) How many whole number are there between 10999 and 11052? /
10999 Td 11052 & ¥ fra-it yof st 82

1.49

Correct Answer :-

. 52

56) Anu wants to find the perimeter of a 5 point star shaped polygon drawn by Amal with each side 5 cm. Help Anu by finding the perimeter of
the star. /

gmm%@mﬁ?ﬁmm5Waﬁummsm§€wm$agwmuﬁﬂmmmm%lwmmmmﬁﬁﬁﬁm
1

1. 50 cm/ 50 94t
2. 15 cm/ 15 9t
3.75 cm /75 9
4,25 cm /25 9l

Correct Answer :-

« 50 cm /50 St

57) CANCELLED

If the volume of a vessel in the form of a right circular cylinder is 448 ™ cm? and its height is 7 cm , then the CSA of the cylinder is ./
IfY T o a9 IO F APR T TP A BT AT 448 7 T3 qopt gerast S 7 A R, < Yo 1 9yt dEwa gl

1. 464 sq cm / 464 a7 ATt

2. 378 sqcm/ 378 aif Jedt

3. 352 sq om /352 G St

4. 482 sq cm /482 @ Tt

Correct Answer :-
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e 352sqcm/352 it et

58) CANCELLED

Psycho-motor activities under mathematics deals with: /
R ¥ siaria Urgel-Aler TRRfE___ dwERa {)
1. All of the above / SURTeRT THt

2. Drawing only / B IGiHA (EISTD

3. Manipulating only / e HdHa (HTGATCT)

4. Model making only / Faq Ared At @rsa ifd)

Correct Answer :-

« All of the above / SWRIgd g4t

59) CANCELLED

Consider the following statements: /

1.Whole numbers are closed under addition and subtraction but not under multiplication and division.

2.Integers except zero are closed under addition, subtraction, multiplication and division.
3.Rational numbers are closed under addition, subtraction, multiplication and division.
fFrafafEe sy w AR w3

1. SIS 9 UeTd & dgd YUl GBI 3 FI d¢ [T S § WReg 7Un Ue fAUTeH &1 % a8 [l

2. I B! BISHR SIS, U4, oI Td faHeH & d8d Qi &) d@¢ fear smar g1

3. Silg, e, U U9 fAUTeH & dgd uRAY el o ¢ fear orar 21

1. Only statements 1 & 2 are right. / Hdd ¥ 1 T4 2 TA G|
2. Only statements 2 & 3 are right. / HIA DY 2Td 3 A
3. All the three statements are right. / T di T aa gl

4. All three statements arc wrong. / G} Tl HU 3 gl

Correct Answer :-

« All three statements are wrong. / G} Tl HUT 38 gl

60) For what value of 'k’ do the equations 4x — 2y = 3 and kx + y =5 represents two lines intersecting at a unique point? /

THIPRT 4x — 2y = 3 Td kx + y =5 & TP IR fig W Gt uiosd Sl Tasit &1 a2 & R 'k’ &1 9 fean 82
k=-3
k£2
k3
k-2
4,

Correct Answer :-

k-2
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